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1. Income Summary is

A. a revenue account

B. a temporary capital account

C. a liability account

D. an asset account

2. The information needed for closing all revenue accounts is obtained from the work sheet’s

A. Trail Balance Debit column

B. Income Statement Debit column

C. Income Statement Credit column

D. Balance Sheet Credit column

3. After closing entries are posted, the owner’s capital account balance should be the same as

A. capital shown on the balance sheet

B. revenue for the fiscal period

C. net income for the fiscal period

D. total assets

4. A post-closing trial balance is prepared to show
A. the owner’s capital account balance

B. the net income for the fiscal period

C. that debits still equal credits in the ledger after closing entries are posted

D. verify income statement

5. The total of the General Debit column journal is

A. posted daily

B. posted at the end of the month

C. not posted

D. posted when the page is filled

6. The accounts payable ledger form with balance-column ruling is desirable because it

A. the account number of each creditor

B. the name and address of each new creditor

C. how much is owed to a creditor at any time

D. total amount owed to all creditors

7. The Merchandise Inventory amount in a work sheet’s Trial Balance Debit column represents the value of merchandise

A. at the end of a fiscal period

B. sold during a fiscal period

C. at the beginning of a fiscal period

D. purchased during a fiscal period

8. The Supplies amount in work sheet’s Trial Balance Debit column represent the cost of supplies

A. available during a fiscal period

B. used during a fiscal period

C. bought during a fiscal period

D. at the beginning of a fiscal period

9. The two accounts used in adjusting supplies are

A. Supplies and Supplies Expense

B. Income Summary and Supplies

C. Income Summary and supplies Expense

D. Merchandise Inventory and Supplies

10. Supplies used during a fiscal period are classified as

A. capital

B. an expense

C. a liability

D. an asset

11. The portion of the insurance premiums that has expired during a fiscal period is classified as

A. capital

B. a liability

C. an expense

D. an asset

12. After the supplies adjusting entry has been posted, the supplies account balance represents the value of supplies

A. inventory at the beginning of the fiscal period

B. Bought during the fiscal period

C. used during the fiscal period

D. inventory at the end of the fiscal period

13. After the supplies adjusting entry has been posted, the supplies expense account balance represents the value of supplies

A. inventory at the beginning of the fiscal period

B. bought during the fiscal period

C. used during the fiscal period

D. inventory at the end of the fiscal period

14. After the prepaid insurance adjusting entry has been posted, the prepaid insurance account balance represents the value of insurance premiums

A. prepaid at the beginning of the fiscal period

B. prepaid during the fiscal period

C. expired during the fiscal period

D. prepaid at the end of the fiscal period

15. The work sheet columns from which information is obtained for the first two closing entries at the end of the fiscal period are the

A. Trial Balance columns

B. Adjustments columns

C. Income Statement columns

D. Balance Sheet columns

16. After the journal entry to close the revenue account has been posted, the sales account has a

A. debit balance

B. credit balance

C. zero balance

D. negative balance

17. After the journal entry to close the income summary account has been posted, the income summary account has a

A. debit balance

B. credit balance

C. zero balance

D. negative balance

18. After the journal entry to close the drawing account has been posted, the drawing account has a

A. debit balance

B. credit balance

C. zero balance

D. negative balance

19. After all closing entries have been posted, the accounts that remain open are the


A. asset, liability, and capital accounts

B. capital, revenue, and cost accounts

C. revenue, cost, and expense accounts

D. assets, liability, and revenue accounts

20. In preparing a post-closing trial balance, an accountant lists

A. the accounts in alphabetical order

B. only those accounts that have balances

C. all the general ledger accounts

D. expense and revenue accounts

21. Allowance for Uncollectible Accounts is

A. an asset account

B. a contra asset account

C. a liability account

D. a contra sales account

22. Revenue from sales on account should be recorded

A. at the sale time of sale

B. when payment is made

C. when the merchandise is delivered

D. weekly

23. Taxes such as FICA tax, federal unemployment tax, and state unemployment tax as a group are frequently referred to as

A. city taxes

B. payroll taxes

C. income taxes

D. sales taxes

24. Payroll information for each employee is recorded in a payroll register

A. at the end of each day

B. at the end of each week

C. at the end of each month

D. at the end of each pay period

25. A business’ payroll taxes for a pay period are debited to

A. an asset account

B. a liability account

C. a revenue account

D. an expense account

26. The total of the Total Earnings column of a payroll register is debited to

A. an asset account

B. a liability account

C. a revenue account

D. an expense account

27. The total of the FICA tax column of a payroll register is credited to

A. an asset account

B. a liability account

C. a revenue account

D. an expense account

28. The total of the Net Pay column of the payroll register is credited to

A. an asset account

B. a liability account

C. a revenue account

D. an expense account

29. FICA taxes are paid by

A. employers only

B. employees only

C. more by the employer than the employee

D. equally by both the employer and the employee

30. Until amounts withheld from employees’ earnings for income tax and FICA tax are sent to the Internal Revenue Service, the amounts withheld represent

A. an asset

B. a liability

C. revenue

D. an expense

31. When a semimonthly payroll is paid, the credit to Cash is equal to the

A. total earnings of all employees

B. total deductions for income tax and FICA tax

C. total deductions from earnings

D. net amount to employees

32. Information needed to determine the amount of an employee’s federal income tax withholding is

A. wages, payroll period, marital status, number of withholding allowances

B. wages, martial status, age, number of withholding allowances

C. wages, FICA deductions, number of withholding allowances

D. wages, marital status, age

33. Information needed to determine an employee’s FICA tax withholding for a pay period is

A. wages, FICA tax rate

B. wages, year-to-date earnings, FICA tax rate

C. wages, number of withholding allowances, FICA tax rate

D. wages, FICA tax rate, employee age

34. An employee’s total earnings are figured by

A. total hours x total rate

B. regular hours x regular rate, plus overtime hours x overtime rate

C. regular hours x regular rate, plus overtime hours x 1.5 overtime rate

D. regular hours x overtime rate

35. Total employee’s deductions include:

A. FICA tax, income tax

B. FICA tax, unemployment tax

C. Income tax, unemployment tax

D. FICA tax, income tax, unemployment tax

36. The amount appearing in a work sheet’s Adjustments Debit column for Depreciation Expense—Equipment is extended to the

A. Balance Sheet Debit column.

B. Income Statement Credit column.

C. Income Statement Debit column.

D. Balance Sheet Credit column.

37. In journalizing an adjusting entry for equipment, the account debited is

A. Equipment.

B. Depreciation Expense—Equipment.

C. Accumulated Depreciation—Equipment.

D. Cash.

38. If depreciation expense is not recorded, net income will

A. be understated.

B. be overstated.

C. not be affect.

D. equal to assets.

39. An estimate of a plant asset’s useful life should be based on

A. FICA guidelines.

B. a minimum of 10 years.

C. prior experience with similar assets.

D. recommendation by manufacturer.

40. An example of a plant asset is

A. Supplies.

B. Delivery Equipment.

C. Accounts Receivable.

D. Prepaid Insurance.

41. A factor affecting the amount of plant asset depreciation expense for a fiscal period is

A. original cost.

B. accumulated depreciation.

C. contra account.

D. cash.

42. The debit balance of Equipment always represents the

A. original cost of all equipment owned.

B. cost of equipment bought during the past fiscal period.

C. cost of equipment during the current fiscal period.

D. total of depreciation.

43. The amount by which a plant asset depreciates is classified as

A. a liability.

B. an asset.

C. an expense.

D. revenue.

44. The maturity value of a 6-month, non-interest-bearing note of $1,000.00, discounted at 12% is

A. $1,120.00.

B. $1,060.00.

C. $1,000.00.

D. $940.00.

45. When a note payable is issued for cash

A. Cash is decreased and Notes Payable is decreased.

B. Cash is decreased and Notes Payable is increased

C. Cash is increased and Notes Payable is decreased.

D. Cash is increased and Notes Payable is increased.

46. One of the principal differences between accounting for a partnership and accounting for a corporation is that

A. different accounts are used to accrue interest expense.

B. different accounts are used to record owners’ equity.

C. different accounts are used to record uncollectible accounts expense.

D. different accounts are used to record a change in cash.

47. The petty cash account is classified as

A. an asset.

B. a liability.

C. an expense.

D. a revenue.

48. An entry to establish a petty cash fund includes a debit to

A. Cash.

B. Miscellaneous Expense.

C. Petty Cash.

D. Vouchers Payable.

49. A cash short and over account is classified as

A. an asset.

B. a liability

C. other revenue or expense

D. cost of merchandise sold

50. A Cash Short and Over debit balance is reported on an income statement as

A. Sales.

B. Cost of Merchandise Sold.

C. Other Revenue.

D. Other Expenses.

51. Items reported on a corporation income statement that are not reported on a partnership income statement include

A. federal income tax expense and cash short and over.

B. net sales, net purchases, and federal income tax.

C. other revenue, other expense, and federal income tax.

D. federal income tax.

52. If the cost of merchandise sold component percentage for the current year is 63.4% and the acceptable component percentage is 62.0%, a comparison indicates that

A. cost of merchandise sold component percentage is at an acceptable level.

B. cost of merchandise sold component percentage is at an unacceptable level.

C. more information is needed to determine if current cost of merchandise sold is at an acceptable level.

D. net income earned is 63.4% of sales.

53. Current assets include such items as

A. accounts receivable, accounts payable, and supplies.

B. accounts receivable, merchandise inventory, and prepaid insurance.

C. cash, supplies, and retained earnings.

D. cash, merchandise inventory, and purchases.

54. The primary source of information for analyzing a business’s financial strength is the

A. income statement.

B. statement of stockholders’ equity.

C. balance sheet.

D. work sheet.

55. An asset account that would not be included in the calculation of working capital is

A. Notes Receivable.

B. Merchandise Inventory

C. Prepaid Insurance.

D. Store Equipment.

56. The debit balance of a dividends account is the

A. total amount of dividends declared during a fiscal period.

B. estimated amount of dividends that will be declared during the next fiscal period.

C. amount of dividends paid during the last quarter of the fiscal period.

D. amount of dividends paid but not declared during the fiscal period.

57. If net sales are $100,000.00 and total operating expenses are $20,000.00, the component percentage for total operating expenses is

A. 20.0%.

B. 80.0%.

C. 50.0%.

D. 500.0%.

58. Making an adjusting entry at the end of the fiscal period to record revenue earned but not received is an application of the accounting concept

A. Adequate Disclosure.

B. Matching Expenses with Revenue.

C. Objective Evidence.

D. Realization of Revenue.

59. The entry to journalize the reversing entry for accrued interest income is

A. debit Income Summary; credit Interest Income.

B. debit Interest Income; credit Income Summary.

C. debit Interest Income; credit Interest Receivable.

D. debit Interest Receivable; credit Interest Income.

60. A reversing entry for accrued interest expense will result in an account balance of

A. Interest Payable Debit.

B. Interest Payable Credit.

C. Interest Expense Debit.

D. Interest Expense Credit.

61. Interest income of a business is

A. a normal operating revenue.

B. an other revenue.

C. an investment.

D. an account receivable.

62. When using the perpetual inventory method,

A. periodic inventories are never taken

B. day-to-day information about the quantity of merchandise on hand is not available.

C. it is not necessary to show the minimum balance on stock records.

D. it is customary to take a periodic inventory at least once a fiscal period.

63. When the fifo method is used, cost of merchandise sold is valued at

A. the average price.

B. the most recent price

C. the earliest price.

D. none of these.

64. The purpose of recording depreciation is to

A. earn revenue.

B. recover the cash spent on plant assets.

C. record an expense in the periods in which the asset is used to earn revenue.

D. earn money to replace the asset.

65. Book value of a plant asset is original cost

A. plus accumulated depreciation.

B. minus accumulated depreciation.

C. plus salvage value.

D. minus salvage value.

66. Information needed to prepare an income statement’s revenue section is obtained from a work sheet’s Account Title column and 

A. Income Statement Debit column

B. Income Statement Credit column

C. Balance Sheet Debit column

D. Balance Sheet Credit column

67. Information needed to prepare an income statement’s expense section is obtained from a work sheet’s Account Title column and

A. Income Statement Debit column

B. Income Statement Credit column

C. Balance Sheet Debit column

D. Balance Sheet Credit column

68. Which accounting concept applies when a work sheet is prepared at the end of each fiscal cycle to summarize the general ledger information needed to prepare financial statements?

A. Business Entity

B. Account Period Cycle

C. Adequate Disclosure

D. Consistent Reporting

69. Information needed for journalizing the adjusting entries is obtained from the 
A. general ledger account Balance columns

B. income statement

C. work sheet’s Adjustments columns

D. balance sheet

70. After adjusting entries are posted, the supplies account balance will be equal to

A. the value of supplies used during the fiscal period

B. the value of the supplies on hand at the end of the fiscal period

C. zero

D. none of these

71. When revenue is greater than total expenses, resulting in a net income, the income summary account has a 

A. debit balance

B. credit balance

C. normal debit balance

D. normal credit balance

72. Information needed for recording the closing entries is obtained from the 

A. general ledger accounts’ Debit Balance columns

B. work sheet’s Income Statement and Balance Sheet columns
C. balance sheet 

D. income statement

73. Income summary is 

A. an asset account

B. a liability account

C. a temporary account

D. a permanent account

74. After the closing entries are posted, the owner’s capital account balance should be the same as

A. shown on the balance sheet for the fiscal period

B. shown in the work sheet’s Balance Sheet Debit column

C. shown in the work sheet’s Balance Sheet Credit column

D. shown in the work sheet’s Income Statement Debit column

75. The amount of sales tax collected is recorded in a 

A. combined revenue account
B. separate ledger

C. separate liability account

D. separate revenue account

76. The amount of sales tax on a sale is calculated as price of goods

A. plus the sales tax rate

B. times the sales tax rate

C. minus the sales tax rate

D. divided by the sales tax rate

77. If a customer buys $300.00 worth of merchandise and the sales tax is 8%, the total bill the customer must pay is

A. $300.00

B. $308.00

C. $324.00

D. $342.00

78. When merchandise is sold on account and sales tax is also collected

A. Accounts Receivable is credited for the total sale and sales tax

B. the accounts receivable account balance is increased

C. Sales is debited for the price of the goods

D. the sales tax is not reported

79. When a credit is posted to the accounts payable ledger, the
A. previous balance is added to the new amount posted in the Credit column

B. source document number and page number of the journal are written in the Post. Ref. column of the account

C. credit amount is written in the Debit column of the account

D. word Balance is written in the Item column

80. Employee regular earnings are calculated as

A. regular hours times regular rate

B. total hours divided by regular rate

C. total hours plus overtime rate

D. overtime hours minus overtime rate

81. Information needed to determine the employee social security taxes withholding for a pay period includes

A. total earnings and social security tax rate

B. total earnings and accumulated earnings

C. total earnings, number of withholding allowances, and social security tax rate

D. total earnings, accumulated earnings, and social security tax rate and tax base

82. A separate payroll checking account is used primarily to

A. simplify the payroll accounting system

B. help reduce the cost of preparing a payroll

C. eliminate employer earnings records 

D. provide additional protection and control of individual payroll checks

83. All the payroll information needed to prepare a payroll and tax reports is found on

A. Form W-4 and the employee earnings record

B. Form W-4 and the payroll register

C. the payroll register and the employee earnings record

D. Form W-4

84. The payroll journal entry is based on the totals of
A. Earnings Total column, each deduction column, and Net Pay column

B. Earnings Total, Earnings Regular, Earnings Overtime, and Deduction Total columns

C. Earnings Regular, Earnings Overtime, and Deduction Total columns

D. Earnings Total, Earnings Regular, and Earnings Overtime Total columns

85. Each employer who withholds income tax, social security tax, and Medicare tax from employee earnings must furnish each employee an

A. IRS Form W-4

B. IRS Form 941

C. IRS Form W-2

D. IRS Form W-3

86. The Merchandise Inventory amount in a work sheet’s Trial Balance Debit column represents the merchandise inventory

A. at the end of a fiscal period

B. at the beginning of a fiscal period

C. purchased during a fiscal period

D. available during a fiscal period

87. The amount of goods on hand for sale to customers is called

A. inventory

B. purchases

C. sales 

D. merchandise inventory

88. Recording expenses in the accounting period in which the expenses contribute to earning revenue is an application of the accounting concept

A. Matching Expenses with Revenue

B. Consistent Reporting

C. Historical Cost

D. Adequate Disclosure

89. The portion of the insurance premiums that has expired during a fiscal period is classified as

A. a liability

B. an asset

C. an expense

D. capital

90. The loss from an uncollectible account is
A. a liability

B. a regular expense of doing business

C. an asset

D. a reduction in revenue

91. Balance of accounts receivable less allowance for uncollectible accounts is the equation for calculating

A. uncollectible accounts expense

B. book value of accounts receivable 

C. the contra account balance to accounts receivable 

D. total collections of previously written-off accounts

92. At the end of a fiscal period, the account debited to show the estimated amount of uncollectible accounts is

A. Accounts Receivable

B. Cash

C. Uncollectible Accounts Expense

D. Allowance for Uncollectible Accounts

93. Recording a plant asset at its original cost is an application of the concept 

A. Going Concern

B. Matching Expenses with Revenue

C. Objective Evidence

D. Historical Cost

94. A business buys plant assets

A. to use in earning revenue

B. to use as an investment

C. to set for a profit

D. for employees’ personal use

95. The amount by which a plant asset depreciates is classified as

A. revenue

B. a liability

C. an expense

D. an asset

96. The annual depreciation for a plant asset with original cost of $1,000.00, estimated salvage value of $100.00, and estimated useful life of 10 years, using the straight-line method, is

A. $100.00

B. $1,000.00

C. $900.00

D. $90.00

97. When a plant asset is sold for less than the asset’s book value
A. cash received plus accumulated depreciation plus gain on disposal equals original cost

B. cash received plus accumulated depreciation plus loss on disposal equals original cost

C. cash received plus accumulated depreciation equals original cost plus gain on disposal

D. cash received plus accumulated depreciation equals original cost plus loss on disposal

98. The weighted-average method is based on the assumption that the cost of merchandise sold should be calculated using the

A. average price per unit of beginning inventory

B. average price of ending inventory

C. average price of beginning inventory plus purchases during the fiscal period

D. average price of ending inventory plus purchases during the fiscal period

99. A business that uses the same inventory costing method for all fiscal periods is applying the accounting concept

A. Consistent Reporting

B. Accounting Period Cycle

C. Perpetual Inventory

D. Adequate Disclosure

100. In a year of falling prices, the inventory method that gives the lowest possible value for ending inventory is

A. weighted-average

B. lifo

C. fifo

D. gross profit
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